
2016 Kawasaki Teryx 

Laminated Glass Windshield 

P/N: 13202 

Tool needed: 

1. 10 mm Wrench or Socket. 

2. 17 mm Wrench  

3. 7/16” Wrench or Socket 

 

Includes: 

1. Frame and Glass Assembly (13203-01 Frame and 12549-01 Glass) 

 

Hardware Kit: 

1. (4) Quick Clamps w/Thumbscrews (P/N: 10230, 1-7/8”) 

2. (1) One Wrap Velcro Strip x 8” long  

3. (1) Bubble Edge Trim 1/16” x 54” Long (bubble on the bottom) 

4. (3) 1/8” thick x 1” wide x 2” Long Adhesive Backed Gasket Strips/

Foam 

5. (1) Logo Sticker 

6. (1) Hand Operated Wiper (P/N: 12841) 

 

Installation: 

1. Slide the edge trim over the bottom edge of your windshield frame.  

This will seal and protect your hood. 

2. Stick the adhesive backed foam in three places along the inside top 

edge.  One in the center and one each side.  These will go between the 

metal frame and your cage to protect your cage and stop rattles. 

3. Using the metal Quick Clamps and thumbscrews attach the wind-

shield to the roll cage (Do not put the 1/4” nuts that were in the bag 

with the clamps on until last).   Once, you are sure you have the wind-

shield in the correct location go ahead and put the 1/4” nylon nuts on 

using the 7/16” wrench or socket.  The thumbscrews will allow you to 

remove the windshield while the clamps remain on the cage so that it 

can be easily installed again. 

4. Using the 17 mm and 10 mm wrench bolt the wiper to the frame as 

shown.  Do not over tighten the 10 mm nut. 

5. Use the Velcro strap to hold the top center tight against the top cross 

bar on the cage, as shown. 

 


